































































































	4 + 2

	= 50 kV/m.

	X	1 + 2

	a	1 — t2

	.'. <==1t22 rad.

	0 = 2// X ) = 10/r rad/s.

	.'. u = 3% m/s.

	= 134'4%.

	- 7

	7X180°

	sin - = iE_.

	Q 9 (a) f002* = 4-7-6, find the value ofx.

	17510 = 10 101 111a.

	z 0 982 x ^X10 = 240-1. oU ■

	frl	Z^y/LCOhertz’

	- 11 ¥ ) /2W(LC)	NC—

	=i 11012

	111012 X 10112 = 10 111 1112.

	Thus, 10000 1100012 + 11 1012 = 10 1012

	Check:	1000 110 0012 = 210 + 25 + 24 + 20 = 173u,

	11 1012 = 24 + 23 + 22 + 20 = 2910,

	= tan-1 62025 = 57° 3V.

	V R

	loggi = logea = 2-95

	5_ — j2

	_ V32 + p/tnan1 (- 4/3)’

	= 34 mA.

	5 . . 5 x V3 n 2i sm0+	2~ c0s0,

	- CO05A — sinZA.

	.'. ABPD = 21°.
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